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I Continuation of analysis of dispute between 13m 3 and X5 (hnn v. Mpon)
1.  jnv "1 relies on RYYR '7's observation that the n1n stressed pnn in case of Pt 0r1Y (and nYan)
a. source: vv. 1-2 (pamr 0*1y), v. 3 (nYan)
2. reason INY "7 rejects RMY's analysis:
a. Suggestion #1: it will defeat v. 4 ("mnr will get v1p, no Man)
1. Challenge: same should apply to 1" n%an
2. Rather: n%an leads to man with 8”wn mny, 1y could lead to man with testimony of 3”2
a.  Similarly: ymnR could lead to man if she’s a nma
b. Suggestion #2: 131 "1 requires Ny TR NN for »aR’s inference (D39 Nw11 in addition to vIp)
1. response: R will derive that from X17’s W7 — 50 YpW just for N29w NRaIN; 91 added
il Alternate explanations for pnnn trumping mp9n in cases of pnmT 07y and nYan
1. (o p*7Y) 8™ - reason: not subject to NRINN (various suggestions as to how to give them nXINn rejected)
a. Reason: since they wanted to subject others to punishment w/o nXann, so happens to them
1. cover: even in cases where they are punished because of nyn &Y (e.g. 32) —due tov.7
2. (nYan) *PR 277 172 RY'WY 21 - from v. §; clearly a case where nn'n is possible (2 nxInn was there)
a. Reason: warning of a graver punishment subsumes warning for lesser liability
1. explanation: he was warned for man (for nRan), nonetheless pays
2. challenge: perhaps 1N 921> "IMmn isn’t Hp 1219 NIMN;
a. added challenge: even if it is, perhaps man is more severe than death?
i.  Proof (rejected): i YRwM ,no1n
3. challenge: only valid to 1327, who agree that w21 (v. 8) means capital punishment
a.  however: to »27, who reads wa) as financial liability, case could be w/o nxInn
b. rather: source is from v. 9; attacker held until we see if victim lives (>must've been nxInn)
1. explanation: ..1mn 9272 nmn — but doesn't get man, rather, he pays
a. challenge (as per above)
b.  challenge: perhaps npn refers to M and there was no nRINN — RVP
il Alternate resolution to contradiction re: man (5)
1. authorship of our mwn — n", who obligates nnn with greater punishment
a. challenge: if so, the mwn should list 7”2 Ny *2mnn (e.g. 1n31)

1. suggestion: perhaps he only does so if the greater punishment is man, not nmn
rejection: n™ finds liability for 4/5 in case of nv'nw which carries 7”2 nmn (e.g. 1"y ,N1V)
block: that is only if the nvo'nw is via another person ( W& or nnn expand to include MYw)
challenge: if it was done by another, why do o'nan exempt him?
answer: NN are W1 who exempts from 4/5 if the nonw is invalid

a.  Challenge: that works for 1ty and Ypoin 1w, but naw no’nw is edible
b. Answer: he follows 1971010 131’ '3 who maintains that if done 7113, it's TIOR8
i. Source:v.11
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